



St. Louis County, Minnesota

Date of Report: 5/12/2025 10:25:01 AM

General Details

 Parcel ID:
 415-0010-03980

 Document:
 Torrens - 1087399.0

Document Date: 09/26/2024

Legal Description Details

Plat Name: LAKEWOOD

Section Township Range Lot Block

14 51 13

Description: NW 1/4 OF SE 1/4

Taxpayer Details

Taxpayer NameWOODARD JAMES L JRand Address:5424 MCDONNELL RDDULUTH MN 55804

Owner Details

Owner Name WOODARD JAMES L JR

Payable 2025 Tax Summary

2025 - Net Tax \$4,281.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$4,310.00

Current Tax Due (as of 5/11/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,155.00	2025 - 2nd Half Tax	\$2,155.00	2025 - 1st Half Tax Due	\$2,155.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,155.00	
2025 - 1st Half Due	\$2,155.00	2025 - 2nd Half Due	\$2,155.00	2025 - Total Due	\$4,310.00	

Parcel Details

Property Address: 5424 MCDONNELL RD, DULUTH MN

School District: 709
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
204	0 - Non Homestead	\$84,100	\$267,700	\$351,800	\$0	\$0	-			
112	0 - Non Homestead	\$46,200	\$0	\$46,200	\$0	\$0	-			
207	0 - Non Homestead	\$11,200	\$27,700	\$38,900	\$0	\$0	-			
	Total:	\$141,500	\$295,400	\$436,900	\$0	\$0	4304			





St. Louis County, Minnesota

Date of Report: 5/12/2025 10:25:01 AM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

ot Width:	0.00								
ot Depth:	0.00								
he dimensions shown ar	e not guaranteed to be s	urvey quality.	Additional lot	information can be	e found at				
ttps://apps.stlouiscountyr	mn.gov/webPlatsIframe/f				tions, please email Property	Tax@stlouiscountymn.gov.			
Improvement 1 Details (RESIDENCE)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1979	1,14		1,639	U Quality / 0 Ft ²	1S+ - 1+ STORY			
Segment	Story	Width	Length		Foundation				
BAS	1	10	26	260	BASEM				
BAS	1	18	13	234	BASEM				
BAS	1.7	0	0	654	BASEM				
DK	1	0	0	116	POST ON G				
DK	1	4	8	32	CANTILE				
DK	1	10	16	160	POST ON G				
ОР	1	4	6	24	FOUNDA				
Bath Count	Bedroom Co		Room C	Count	Fireplace Count	HVAC			
1.75 BATHS	2 BEDROON	/IS	-		1 (C&AIR_COND, ELECTRIC			
Improvement 2 Details (ATTACHED)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1978	55	0	550	-	ATTACHED			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	22	25	550	FOUNDA	TION			
		Improv	ement 3 I	Details (POLE)					
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
POLE BUILDING	1993	1,9	44	1,944	-	-			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	36	54	1,944	FLOATING	SLAB			
LT	1	16	30	480	PIERS AND F	OOTINGS			
		Improve	ement 4 C	Details (CABIN)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
SLEEPER	1947	60	8	608	-	- -			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	0	0	355	PIERS AND F	OOTINGS			
BAS	1	11	23	253	FOUNDA	TION			
DKX	1	6	12	72	POST ON G	ROUND			
DKX	1	12	12	144	POST ON G	DOLINID			





St. Louis County, Minnesota

Total

\$203,000

Date of Report: 5/12/2025 10:25:01 AM

		Improve	ment 5 De	tails (PAVER	S)			
Improvement Type	e Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Bas	sement Finish	Style Co	ode & Desc
	0	27	279 279			- B - BRICK		
Segmei	nt Stor	y Width	Length	Area		Foundation		
BAS	0	0	0	279		-		
		Improve	ment 6 De	tails (PAVER	S)			
Improvement Type	e Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Bas	ement Finish	Style Co	ode & Desc
	0	35	52	352	- CON - CO		ONCRETE	
Segme	nt Stor	y Width	Length	Area		Foundation		
BAS	0	16	22	352		-		
		Impro	ovement 7	Details (ST)				
Improvement Type	e Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Bas	sement Finish	Style Co	ode & Des
STORAGE BUILDIN	IG 0	72	2	72		-		-
Segme	nt Stor	y Width	Length	Area		Found	ation	
BAS	1	6	12	72		POST ON GROUND		
	:	Sales Reported	to the St.	Louis Count	y Audito	or		
lo Sales informa	tion reported.							
		A	ssessmen	t History				
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bld EM		Γotal EMV	Def Land EMV	Def Bldg EMV	Net Ta
	201	\$84,100	\$263,	,400 \$3	47,500	\$0	\$0	-
[112	\$46,200	\$0	\$4	6,200	\$0	\$0	-
:024 Payable 2025	207	\$11,200	\$27,3	300 \$3	8,500	\$0	\$0	-

Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity
	201	\$84,100	\$263,400	\$347,500	\$0	\$0	-
	112	\$46,200	\$0	\$46,200	\$0	\$0	-
2024 Payable 2025	207	\$11,200	\$27,300	\$38,500	\$0	\$0	-
	Total	\$141,500	\$290,700	\$432,200	\$0	\$0	3,828.00
	201	\$84,100	\$261,200	\$345,300	\$0	\$0	-
	112	\$46,200	\$0	\$46,200	\$0	\$0	-
2023 Payable 2024	207	\$11,200	\$27,000	\$38,200	\$0	\$0	-
	Total	\$141,500	\$288,200	\$429,700	\$0	\$0	3,894.00
	201	\$80,400	\$261,200	\$341,600	\$0	\$0	-
	112	\$43,900	\$0	\$43,900	\$0	\$0	-
2022 Payable 2023	207	\$10,600	\$27,000	\$37,600	\$0	\$0	-
	Total	\$134,900	\$288,200	\$423,100	\$0	\$0	3,831.00
	201	\$128,500	\$240,800	\$369,300	\$0	\$0	-
	112	\$70,400	\$0	\$70,400	\$0	\$0	-
2021 Payable 2022	207	\$4,100	\$23,700	\$27,800	\$0	\$0	-

Tax Detail History

\$264,500

\$467,500

\$0

Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV
2024	\$4,271.00	\$25.00	\$4,296.00	\$139,999	\$283,538	\$423,537
2023	\$4,469.00	\$25.00	\$4,494.00	\$133,371	\$283,233	\$416,604
2022	\$5,415.00	\$25.00	\$5,440.00	\$201,607	\$261,890	\$463,497

\$0

4,184.00





St. Louis County, Minnesota

Date of Report: 5/12/2025 10:25:01 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.